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Question Bank on General Fitter Trade for Technician Grade III Level for
all kinds of tests.

�ሀ藀ሀ̀�藀ࠀ� ��� ࠀ� ሀ�� �� �맀�� �ࠀ� �� ��� ���� �� ���ȣ�¢耀 ࠀ�
ሀࠀ�� �� ���

(These are sample questions and should not be taken as that of actual question papers set
by examiners)

ࠀ�) 藀��藀� �� �� �� �x�r �� �� ��ࠀ� ���� �耀���� ������� �� �� ࠀ� �� �r 藀��耀 ሀ��� ��藀�
�����)

Total nos. of sample questions: 112 藀��藀� ��‰ �� �� � �耀���: 112

1)

Ring Gauges are used to check ��耀 ࠀ� �� ��� ��� ��耀� ࠀ� ሀ�� ���� ���� �ᐙ
A. Inside dia �耀�� �� ����
B. Outside dia ���� �� ����
C. Pitch ���
D. Taper 耀̀��

2)

Which of following is a type of angle plate? �൮ �ࠀ�� �� ���� ��藀 �� �ᐙ?
A. Fixed angle plate ሀ藀൮� �൮ �ࠀ��
B. Indexing plate �耀ࠀ����耀 �ࠀ��
C. Surface plate ���� �ࠀ��
D. V block �� ��」�

3)

What is meant by first-aids? ��耀ሀ�� ሀ���t���� ��� ���� �ᐙ?
A. Treatment of a victim before doctor �」��� �藀ࠀ ࠀ� ࠀ��� ����� �� ����

B. Job’s safety ��� ૦� �� ���ȣ�
C. Prepare a proper sequence of operations �耀���藀 �� �ሀ�� �� �ᐙ��� ��r
D. Treatment of a victim after doctor �」��� �藀ࠀ ࠀ� ��� ����� �� �����

4)

What is the least count of a vernier caliper? �ሀ藀��� �ᐙ ሀ��� �� ��� ��藀ࠀ ���� ࠀ��� �� �耀���
��� �ᐙ?

A. 1 mm 1 ሀ���
B. 0.05 mm 0.05 ሀ���
C. 0.01 mm 0.01 ሀ���
D. 0.25 mm 0.25 ሀ���

5)

The centre used with Tail Stock is called �ࠀ� ��」� ࠀ� ��耀 ��� ��� ��藀ࠀ ࠀ��� �r 䙁 � ���
���� �ᐙ

A. Spindle Centre ���耀�� �r��
B. Dead Centre �ࠀ� �r 䙁
C. Live Centre ���� �r��
D. Main Centre ���� �r 䙁

6)
Which one of the following is an artificial
abrasive?

ሀ藀�藀ሀ��Ǔ� �r ࠀ� ��藀 �� �� ��� �aࠀሀ�� �ᐙ?

A. Emery ����



B. Silicon Carbide ሀ�ሀ��」藀 ሀ�ሀ��」藀 �������
C. Green Sand ��藀 �ࠀ�
D. Diamond ����耀�

7)

Following is used for general fire. ሀ藀�藀 ሀ��Ǔ� �� ��� ����x� � ࠀ� ሀ�� ����
���� �ᐙ

A. Fire extinguisher ��䁣藀̀���
B. Safe guard ����ȣ� ���
C. Iodine ����藀
D. Coolant Pump �� �r� �耀�

8)

The size of three-jaw chuck is specified by �� ��� ૦ �� �� ���� ������������ ሀ藀���- ����
�� �ᐙ

A. The size of each jaw �tࠀ�� ��� ૦ �� ����
B. The thickness of each jaw �tࠀ�� ࠀ��� �� ���㔰
C. The diameter of the body of the chuck �� ࠀ� ��耀ࠀ� �� ����
D. Width of the body of the chuck �� ࠀ� ��耀ࠀ� �� ����㔰

9)

What is the point of angle (degree) in a
centre punch?

�r 䙁 �耀� �r �൮ ������ �� ��� ��� �ᐙ?

A. 60° 60°
B. 45° 45°
C. 90° 90°
D. 30° 30°

10)

Hammers are classified as per: �耀��‰ �� �䁙��൮ ���� ���� ���
A. Hold and weight ��� �� ��藀 ࠀ� �藀����
B. Frame’s shape and weight ࠀ� � ࠀ� ���� �� ��藀 ࠀ� �藀����
C. Heel’s shape and weight ሀ藀ࠀ�� �� ࠀ� ࠀ� ���� �� ��藀 ࠀ� �藀����
D. Handle’s length ���� �� �耀��㔰 ࠀ� �� �r

11)

Chisels are made of the following �藀ࠀ� ሀ藀�藀 ࠀ� �藀ࠀ �ࠀ� ��
A. High Carbon Steel ��� ����藀 ࠀ��� ����� ࠀ�
B. High speed steel ��gሀ� ����
C. Cast steel ���� �����
D. Tungsten steel �耀��藀 ����

12)

A steel-rule should never be used as �� ������� �� ��� ሀ藀�藀 ࠀ� �� �r ��� 藀��耀
���� ��藀� �����

A. Screw driver �r���
B. Hammer �耀���
C. Knife ����
D. All of these ࠀ� ���

13)

The length of a file is measured: ��ࠀ�/���� �� �耀��㔰 � ���� ���� �ᐙ�

A. Along the tip to the shoulder ���� ࠀ� ̀��� ࠀ� ��耀
B. Along the tip to the heel ��� ࠀ� ̀��� ࠀ� ��耀
C. Along the tip to the tang �� ࠀ� ̀��� ࠀ� ��耀
D. Along the heel to the tang ��� ࠀ� ��� ࠀ� ��耀

14) The practice of following is a part of the ሀ藀�藀 �� �ß��� ���ȣ� �ሀ̀ȣ൮ ሀ���ሀc �� ��



safety training activity ����� �ᐙ
A. First Aid ��耀ሀ�� ሀ���t��
B. Trade practical’s only ࠀ� �� �ࠀ� �ᐙ�����
C. Study of Theory ሀ���耀� �� ���藀
D. Demonstration ��̀�藀

15)

The bit of a soldering iron is made of the
following:

��耀�� ��藀ࠀ ࠀ��� �ࠀ� ࠀ� �耀� �� �ࠀ �� 耀�� ��
����� ሀ藀�藀 ࠀ� �藀� ��� �ᐙ

A. Iron ���
B. Brass ����
C. Copper ��耀��
D. Stainless Steel �ࠀ�藀ࠀ�� ����

16)

The length of a hack-saw blade is measured
between:

�ᐙ���� �ࠀ�� �� �耀��㔰 � ሀ藀�藀 ࠀ� ��� �r ���� ����
�ᐙ

A. The inner ends of the two pins-holes � ��藀ࠀ���‰ ࠀ� �耀���� ሀࠀ��
B. Centers of the pin holes ��藀 �ࠀ� ࠀ� �r 䙁
C. The outer ends of the two pin holes � ��藀 �ࠀ� ࠀ� ����� ��
D. The inner end of pin-hole and the outer end

of the outer pin hole
��藀��� ࠀ� ����� �� �� ����� ��藀 �� ࠀ� �����
��

17)

A coolant is mainly used for cooling of the: �� �� ��� ���� �� ࠀ� ሀ藀�藀 � �耀�� ��藀ࠀ ࠀ� ሀ��
��� ���� ���� �ᐙ�

A. Machine �̀�藀
B. Job Only ࠀ� �� �������
C. Cutting tool ���藀ࠀ �� ����
D. Hot chips �」� ሀ���

18)

Which one of the following is a good
conductor of heat?

ሀ藀�藀ሀ��Ǔ� �r ࠀ� ��藀 �� �⍆�� �� ���� ���� �ᐙ?

A. China clay ��藀� ሀ�ઍ��
B. Porcelain �ሀ��ሀ�藀
C. Graphite ���맀ࠀ�
D. Copper ��耀��

19)

The expansion of metal is called the: c��� ࠀ� ������ � ሀ藀�藀ሀ��Ǔ� ��� ���� �ᐙ�

A. Malleability �ᐙࠀ���ሀ���
B. Ductility ����ሀ���
C. Tensile strength �r���� ��r耀
D. None of the above ���� �r ࠀ� �㔰 藀��耀

20)

Corrosion is the following property of a metal �耀 c��� �� �� ሀ藀�藀 ���� �� �൮ �ᐙ
A. Mechanical ��耀���
B. Chemical �����ሀ藀�
C. Physical ��ሀ��
D. Electrical �������

21)
A device which holds and locates a work
piece and guides and controls one or more
cutting tools is known as:

�� ����൮ � �� ��� ��� � ��� �� �Ǔ�� �ᐙ
�� �� �� �� ࠀ� �ሀc� ���耀 ���� � ሀ藀�耀���
���� �ᐙ, ࠀ�� ሀ藀�藀 ���� ࠀ� ��藀� ���� �ᐙ�



A. Machine �̀�藀
B. Locator �ࠀ� ��
C. Fixture �맀����
D. Jig ��

22)

While drilling on lathe m/c, the drill is held in
the following:

耀ࠀ� �̀�藀 �� ��ሀ�耀 ࠀ��� ���, ��� � ሀ藀�藀 �r
���� ���� �ᐙ

A. Head stock �ࠀ� ��」�
B. Tail stock �「���ࠀ�
C. Compound rest �耀 ���耀 � ��ࠀ�
D. Bed �ࠀ�

23)

Lathe machine’s bed is made of the following 耀ࠀ� �̀�藀 �� �ᐙ� ሀ藀�藀 ࠀ� �藀� ��� �ᐙ
A. Mild steel 藀�� �����
B. Cast iron ���� ���
C. High Carbon Steel ��� ����藀 �����
D. High alloy steel ��� ሀ�〳 c��� �����

24)

The compound slide swivel base is set at 45°
to the centre line of lathe. The degree of the
reading at the cross slide index will be

�耀 ���耀 � ����� �ࠀ���� �ࠀ� � 耀ࠀ� �̀�藀 �� �r 䙁��
�Ǔࠀ� �� 45 ° �� �ࠀ� ���� ���� �ᐙ� ��� �����
�耀ࠀ��� �� ����耀 �� ���� ሀ藀�藀 ���� ���

A. 135° 135°
B. 90° 90°
C. 45° 45°
D. 30° 30°

25)

A screw thread is designated as 1” B.S.P
thread. In 1 inch B.S.P thread 1” indicates?

�� ��� �ࠀ� � � " B.S.P �ࠀ� ࠀ� �� �r 藀�ሀ�� ����
�� �ᐙ� 1 �耀� B.S.P �ࠀ� �r 1" �� ��� �耀� �ᐙ

A. Major diameter of thread ���� �� ���Ǔ ����
B. Minor diameter of thread ���� �� ��� ����
C. Pitch diameter of thread ���� �� ��� ��������
D. Hole diameter of pipe ���� �� �ࠀ� ����

26)

Following is the purpose of a bench vice is: �r� ��㔰� �� ��ࠀ‪� ሀ藀�藀 ���� �ᐙ�
A. To balance and grip the work piece ��� ��� � �耀��ሀ�� ࠀ��� ���藀ࠀ ࠀ� ሀ��
B. Storage of work piece ��� ��� �� �耀���൮
C. To polish the work piece ��� ��� � ��ሀ�̀ ��藀�
D. Cutting of work piece ��� ��� � ���藀�

27)

Slip Gauges is used for: ���� ࠀ� �� ��� ሀ藀�藀 ࠀ� ሀ�� ���� ���� �ᐙ�
���藀ࠀ ࠀ� ����൮ �� �耀̀�耀�藀 ��� ࠀ� ���

A. To check the Outside Diameter ����� �������� �� ���� ��藀ࠀ ࠀ� ሀ��
B. Setting of measuring Instruments ��� ����൮‰ �� ��耀ࠀ� ࠀ� ሀ��

C. Calibration of measuring Instruments ��� ����൮‰ �� �ᐙ ሀ�àࠀ藀 ࠀ� ሀ��
D. All of above ���� ���

28)

Taper keys are rectangular in cross section,
they have a taper of:

�」� 藀̀�ࠀ� �r ��ࠀ� ��� ������� ��� ��, �藀��
��ࠀ� �� �藀���� ሀ藀�藀 ���� ��� �ᐙ�

A. 1:100 on the thickness 1: 100 �� ���㔰
B. 1:90 on the thickness 1:90 ���㔰 ��



C. 1:80 on the thickness 1:80 ���㔰 ��
D. !:70 on the thickness �: 70 ���㔰 ��

29)

Which type of milling machine is used to cut
helical gears ?

��� ���� �� ሀ�ሀ�耀 �̀�藀 �� ���ሀࠀ� ሀ���
ࠀ��� �� ࠀ��� ��?

A. Universal ��ሀ藀����
B. Plain 藀ࠀ��
C. Horizontal �」���」x��
D. Drum type �� ����

30)

The standard pipe fittings are provided with
threads conforming with:

��藀� ���� �맀��耀 �r ������耀 ሀ藀�藀 ࠀ� �藀��� ���
�ᐙ�

A. BA BA

B. BSW BSW

C. BSP BSP

D. Metric �����

31)

In a V belt, the angle between the side is: V ��ࠀ� �r, ��藀ࠀ�� ࠀ� ��� �� �൮ ��� �ᐙ�

A. 40° 40°
B. 60° 60°
C. 30° 30°
D. 15° 15°

32)

The belt mainly slips due to the following: ��ࠀ� ���� �� ࠀ� ሀ藀�藀 ࠀ� ���൮ �맀�� ���� �ᐙ

A. Less tension �� �藀��
B. High starting torque ��㔰 �����i �」��
C. Misalignment ሀ��ሀ�䁣x�r�
D. Pulsating Load ��耀ࠀ��� ��

33)

Which of the following is the non-metallic
anticorrosion treatment?

ሀ藀�藀ሀ��Ǔ� �r ࠀ� ��藀��� ᐙ��c������c� ����� �ᐙ?

A. Shearing ̀����耀
B. Enameling �藀ࠀ�ሀ�耀
C. Cladding ��ᐙ��耀
D. Carburising ���������耀

34)

Viscosity is related to: ���藀�� ሀ藀�藀 ࠀ� �耀�耀ሀc� �ᐙ�

A. Temperature �����藀
B. Density �藀t�
C. Colour �耀
D. Pressure ����

35)

Classification of file is done according to: ���� �� �䁙��൮ ሀ藀�藀�藀���� ���� ���� �ᐙ�

A. Weight ��藀
B. Shape ����
C. Material �����
D. Tip ���

36) Surface plate is used to check: ��맀ࠀ ̀ �ࠀ�� �� ��� ሀ藀�藀 �� ��耀� ࠀ� ሀ�� ����
���� �ᐙ�



A. Roundness ��㔰
B. Flatness ������
C. Weight ��藀
D. Heat �⍆��

37)

What is the use of drill gauge? ��� ࠀ� �� ��� ��� �ᐙ?

A. For checking tip of the bit ��� �� 藀� �� ���� ࠀ� ሀ��
B. For checking size of the bit ��� ࠀ� ���� �� ���� ࠀ� ሀ��
C. For checking height of the bit ��� �� �耀 ��㔰 �� ���� ࠀ� ሀ��
D. For measuring cutting angle ���藀ࠀ �൮ � ���藀ࠀ ࠀ� ሀ��

38)

Which washer is used for locking? �」��耀  ࠀ� ሀ�� ��� �」̀� �� ��� ���� ���� �ᐙ?

A. Plain 藀ࠀ��
B. Locking �」��耀 
C. Spring ���耀
D. Round ���耀 �

39)

The property of a metal due to which it can
be shaped to a wire by drawing process is
called:

c��� �� �� ��藀 �� �൮ �ᐙ ࠀ���� ���൮ ࠀ�� ���耀
����� ���� �� ��� �� ���� ���� �� ���� �ᐙ�

A. Brittleness �耀����
B. Toughness �����
C. Ductility ������藀
D. Strain �藀��

40)

Copper percentage in gun metal is: 藀 ��ࠀ� �r ��耀�� �ሀ�̀� �ᐙ�

A. 90% 90%
B. 85% 85%
C. 60% 60%
D. 50% 50%

41)

Why Teflon tape is used in the pipe
assembly?

���� �� �r l�」藀ࠀ� �ࠀ� �� ���ࠀ��� ��‰ ����
���� �ᐙ

A. Get tight fitting �맀��耀 ���� ��r
B. Easy engagement ���藀 ��xc ࠀ� ሀࠀ��
C. Fill the gap between threads c�ࠀ ࠀ� ��� ࠀ� �耀�� � ��藀ࠀ ࠀ� ሀࠀ��
D. Avoid leakage ����� �藀ࠀ 藀 ࠀ�

42)

Which type of gear converts rotary motion
into linear motion?

��� ���� �� ሀ�� ���� ሀ� � �耀ࠀ�Ǔࠀ�� ሀ� �r
����ሀ��� ���� �ᐙ?

A. Rack & Pinion �ᐙ� ��耀 ��ሀ藀�藀
B. Spur Gear ��� ሀ��
C. Hypoid Gear ��」� ሀ��
D. Integral Gear �耀���� ሀ��

43)

Aluminum is widely used in aircraft industry
because of :

������ሀ藀�� �� ����� �� ࠀ� ����藀 �� �r
��� ���� ���� �ᐙ ��‰�� �� �ᐙ�

A. Better machinability �̀�ሀ藀耀 ��藀ࠀ �� ���ࠀ� �䁣���
B. Corrosion resistance �耀 �ሀ��c



C. Light in weight ��藀 �r ࠀ���
D. All of above ��� ࠀ� ���

44)

A 400 m long train is running at 72 Kmph�
how much time it will take to cross an electric
pole?

�� 400 ���� �耀�� 藀ࠀ� 72 ������� �ሀ� �耀ࠀ� ��
�l��� ࠀ� �� ��� �ᐙ� ࠀ�� ����� ࠀ� Ǔ耀ࠀ� � ���
��藀ࠀ �r ���藀� ��� �ࠀ�?

A. 15sec 15 �耀ࠀ� �
B. 20sec 20 �耀ࠀ� �
C. 19sec 19 �耀ࠀ� �
D. 21sec 21 �耀ࠀ� �

45)

320 m long train is running at 72 Kmph. how
much time it will take to cross a platform of
180 m long?

320 ���� �耀�� 藀ࠀ� 72 ������� �ሀ� �耀ࠀ� �� �l���
ࠀ� ��� ��� �ᐙ� ࠀ�� 180 ���� �耀ࠀ� �� ��「�맀ࠀ�� �
��� ��藀ࠀ �r ���藀� ��� �ࠀ�?

A. 20sec �‪ �耀ࠀ� �
B. 25sec �ᕔ �耀ࠀ� �
C. 30sec �‪ �耀ࠀ� �
D. 27sec �ៅ �耀ࠀ� �

46)

Two trains 300 m and 400 m long run at the
speeds of 40 kmph and 50 kmph respectively
in opposite Directions on parallel tracks. The
time taken to cross each other?

� ������耀ࠀ� 300 ���� �� 400 ���� �耀�� ���藀�耀��
�����‰ �� ������ ��̀�¢耀 �r ��̀� 40 ���� ��
50 ���� �ሀ� �耀ࠀ� �� ሀ� ࠀ� ���� ��� �xࠀ� �� ࠀ����
� ��� ��藀ࠀ �r ���藀� ��� �ࠀ�?

A. 20sec �‪ �耀ࠀ� �
B. 25sec �ᕔ �耀ࠀ� �
C. 26sec �6 �耀ࠀ� �
D. 28sec �Ⅹ �耀ࠀ� �

47)

In a conventional hardening of
hypereutectoid steels� the component is
heated above the following temperature

�����ࠀ��ࠀ����� ����� �� �x�r̀藀� ����ሀ藀耀 �r, ���ⴖ
� ሀ藀�藀 �����藀 ࠀ� ��� �� ���� ���� �ᐙ

A. 228⁰C �����ࠀ�228⁰
B. 363⁰C �����ࠀ�363⁰
C. 585⁰C �����ࠀ�585⁰
D. 738⁰C �����ࠀ�738⁰

48)

After hardening, the component is cooled at the : ����ሀ藀耀 ࠀ� ���, ���ⴖ � ሀ藀�藀 ���� �耀�� ���� ����
�ᐙ

A. Critical cooling rate ������ ̀���藀 �� ��
B. Rate just more than the critical cooling rate ������ ̀���藀 �� ࠀ� �ሀc� �� ��
C. In still air ��耀� ��� �r
D. Rate at which it was heated ��� �� �� ࠀ�� �� ���� ��

49)

In conventional hardening austenite
transforms to the following

�x�r̀藀� ����ሀ藀耀 �r �藀�㔰ࠀ��� ሀ藀�藀 �r ��� ����
�ᐙ

A. Martensite ���e��㔰�
B. Cementite ����xࠀ���
C. Perlite �������
D. Ferrite 맀ࠀ ����



50)

How do you recognize a drill for soft metal? �� 藀�� c��� ࠀ� ሀ�� ��� � �ᐙ ࠀ� ����藀ࠀ� ��?
A. By the large helix angle ࠀ�� ���ሀࠀ� �൮ ����
B. By the small helix angle �ࠀ� ���ሀࠀ� �൮ ����
C. By the chisel edge angle �藀ࠀ� ��藀ࠀ�� ࠀ� �൮ ࠀ�
D. By the point angle which is 90 deg ��耀�� �൮ ���� � �� ���� �ᐙ

51)

Oil grooves are to be cut in brass half
bearings. Which one of the following chisels
in suitable?

���� ࠀ� �cࠀ �����耀 �r �ࠀ� ࠀ� Ǔ�耀ࠀ� ࠀ��� ��藀ࠀ ���
ሀ藀�藀ሀ��Ǔ� �r ࠀ� ��藀 �� �藀ࠀ� ����� �ᐙ?

A. Flat chisel ���� �藀ࠀ�
B. Cross chisel �」� �藀ࠀ�
C. Half round nose chisel �c� � 藀�� �藀ࠀ�
D. Web chisel �ࠀ� �藀ࠀ�

52)

The nos. of Railway Zone in the country is: ̀ࠀ� �r ࠀ��ࠀ� �藀‰ �� �耀��� ሀ藀�藀 �ᐙ�
A. 9 9
B. 17 17
C. 18 18
D. 19 19

53)

During calculation of Incentive bonus
scheme, leave reserve is taken as:

�t���藀 ��藀� ൮藀� ࠀ� ����藀 ����̀ fjtoZ

ሀ藀�藀�藀���� ekuk tkrk gSA

A. 12% 12%
B. 12.5% 12.5%
C. 16% 16%
D. 16.5% 16.5%

54)

Under WC Act, employer shall not be liable to
pay compensation in respect of any injury
which does not result in the total or partial
disablement of the workman for a period
exceeding following days:

odZ �ᐙ藀 dEiu'kslu �ሀcሀ藀�� ࠀ� ���, ሀ藀��� ���� ��
�� ࠀ� �耀�耀c �r ࠀ����� �� ����藀 ��藀ࠀ ࠀ� ሀ��
�ƣ����� 藀��耀 �� ࠀ���� ���൮������ ��� ��藀ࠀ
ࠀ��� �� �� � �� �耀ሀ̀� �����耀��__ ��藀 ls vf/kd 藀��
gksrh �ᐙ;

A. 7 7
B. 5 5
C. 3 3
D. 2 2

55)

Censure is one of the following penalties �r�� ሀ藀�藀 �r ࠀ� �� ���藀ࠀ� gSA
A. Major Penalty ��ࠀ� ���藀ࠀ�
B. Minor Penalty ekbZuj ���藀ࠀ�
C. Verbal Warning ���Ǔ� ����藀ࠀ�
D. Improvement Advise ��c�� �� ����

56)

Minor Penalty chargesheet (SF-11) to SSE
level supervisor can be issued by:

,l-,l-bZ ��� ࠀ� �ȣࠀ���� � y?kq 'kkfLr ����̀ ��� ���맀
�11) fdlds ���� ���� ���� �� ���� �ᐙ�

A. Junior Scale Officer ��ሀ藀�� ࠀ�� � �ሀc����
B. Senior Scale Officer ���૦ ࠀ�� � �ሀc����
C. JAG Officer ࠀ� � �� �ሀc����
D. SAG Officer ����� �ሀc����

57)
To avoid accidents work man should use their
recommended

�����藀�¢耀 ࠀ� ��藀ࠀ ࠀ� ሀ�� ��૦� �ᐙ藀 ૦ � ሀ藀�藀 �r ࠀ�
��� ��� ��藀� �����

A. IMTE’s IMTE’s



B. MME’s MME’s
C. PPE’s PPE’s
D. BOOKS BOOKS

58)

Procurement on NSR (Non-stock Requisition)
signed by Senior Scale Officer (WM) can be
made up to:

NSR (ᐙ����」� ��耀 ૦ �� ૦� �� ��ሀ藀�� ࠀ�� � ��맀��૦
� (WM) ���� ����ȣ��� ࠀ� ���藀ࠀ ࠀ���� �� Ǔ��� ��
�� ���� �ᐙ �

A. Rs. 15 Lakhs � 15 ��Ǔ
B. Rs. 10 Lakhs � 10 ��Ǔ
C. Rs. 5 Lakhs � 5 ��Ǔ
D. Rs. 2 Lakhs � 2 ��Ǔ

59)

The Railway servants (Discipline & Appeal)
Rules came into force in

ࠀ��ࠀ� ��ࠀ� ��藀�̀��藀 �� ����� ሀ藀��__�r ��� ���
�

A. 1948 1948
B. 1966 1966
C. 1968 1968
D. 1978 1978

60)

The following form is used for revocation of
suspension

ሀ藀�藀 맀」�� �� ��� ሀ藀�耀�藀 � ���ⴖ ��藀ࠀ ࠀ� ሀ��
���� ���� �ᐙ

A. SF 1 SF 1
B. SF 2 SF 2
C. SF 5 SF 5
D. SF 7 SF 7

61)

Maximum nos. of months of study leave can
be granted to an employee during his entire
service

�ሀc��� ���藀‰ �� ����藀 �� ઍ�� ������� �
���� ���� ��ࠀ� ࠀ� ����藀 �� �� ���� �ᐙ

A. 36 36
B. 28 28
C. 24 24
D. 30 30

62)

Who is Estate Officer of DMW Mh0,e0MCY;w ࠀ� �ࠀ��� ��맀�� ��藀 ૦ ��
A. CEE eq-fo-vfHk

B. PCME iz-eq-;ka-vfHk

C. DY.CE mi eq-vfHk

D. DY.CME/PLANT mi eq-;ka-v@IykaV

63)

Which is the Headquarter of Northern
Railway?

mRrj jsyos dk iz/kku dk;kZy; dkSu lk gS

A. Patiala House ifV;kyk gkml

B. Baroda House cMkSnk gkml

C. Connaught Place dukV Iysl

D. Rail Bhawan jsy Hkou

64)

ISO-50001 pertains to___________________ ISO-50001 ___________________ ࠀ� �耀�耀ሀc� �ᐙ
A. Safety ���ȣ�
B. Health ������
C. Environmentt ������൮
D. Energy ����

65)
Canteen required in factory for more
than ………. employees.

dkj[kkus esa ---- deZpkjh ls vf/kd gksus ij dSUVhu vko';d gSA

A. 500 500



B. 200 200
C. 250 250
D. 700 700

66)

Final modification of budget is prepared
in ……….

ctV dk QkbZuy ekWfMfQds'ku ------------------- esa cuk;k

A. August ���
B. May �㔰
C. February 맀����
D. December ���耀��

67)

PAC items are purchased through ����� ���� ��l ����� ࠀ� Ǔࠀ��� ࠀ��� ��
A. single tender ሀ�耀䁣� ሀ藀����
B. limited tender ��ሀ�� ሀ藀����
C. open tender [kqyh ሀ藀����
D. E-tender 㔰� ሀ藀����

68)

Information under RTI act should be provided
with in --- days

�����㔰 �ሀcሀ藀�� ࠀ� ��� ��藀���� ��� ��藀‰ �r
���藀 �� ��藀� �����

A. 20 20
B. 30 30

C. 10 10
D. 45 45

69)

One horsepower is equal to: �� �Ƴ̀�� ��� ࠀ� ����� �ᐙ �
A. 102 watts ��� 102
B. 1000 watts �‪‪‪ ���
C. 550 watts ᕔᕔ‪ ���
D. 735 watts ៅ�ᕔ ���

70)

In Green Co, DMW administrative building
has been awarded with __________ rating.

Mh0,e0MCY;w � ��藀 lk xzhu&dks jsfVax iznku fd;k x;k

�ᐙ SA
A. Bronze ��耀��
B. Silver ���
C. Gold Lo.kZ

D. Platinum ���藀ࠀ��

71)

Which Method is used for checking internal
flaws of Axles of Loco.

�� ࠀ� ���� �� �耀���� Ǔ�ሀ��‰ �� ��耀� ࠀ�
ሀ�� ��� ��ሀc �� ��� ���� ���� �ᐙ�

A. X-Ray ࠀ�����
B. Ultrasonic �����ሀ藀�
C. Magnaflux �ᐙ䁣藀�l���
D. DPT ������

72)

As per ISO who is MR (Management
Representative) of DMW.

�㔰��¢ ࠀ� �藀���� ��������� �� ���� ���耀c藀
�ሀ�ሀ藀ሀc� �ᐙ�

A. DyCME/D&Q ����� ����㔰 � �� �耀� ���
B. DyCME/HMS ����� ����㔰 � ������
C. DyCME/System ����� ����㔰 � ሀ����



D. DyCME/Plg ����� ����㔰 � ��藀�

73)

Which Method is used for checking Cracks on
Cam Shafts

�ᐙ � ̀�l� �� �ᐙ � �� ��耀� ࠀ� ሀ�� ��� ��ሀc ��
��� ���� ���� �ᐙ

A. X-Ray ࠀ�����
B. Ultrasonic �����ሀ藀�
C. Magnaflux �ᐙ䁣藀�l���
D. DPT ������

74)

Wheels are mounted on axle using ����‰ � ���� �� ������������� �� ��� ࠀ���
���� ���� �ᐙ

A. Clearance Fit �����r� �맀�
B. Transition Fit �����r� �맀�
C. Interference Fit ��耀��̀藀 �맀�
D. Shrink Fit ሀ〳耀� �맀�

75)

Armature are fitted on Armature Shaft using ��ⴖ�� � ��ⴖ�� ̀��� �� ������������� �� ���
ࠀ��� ���� ���� �ᐙ

A. Clearance Fit �����r� �맀�
B. Transition Fit �����r� �맀�
C. Interference Fit ��耀��̀藀 �맀�
D. Shrink Fit ሀ〳耀� �맀�

76)

As per Factory Act, how many hours
(maximum) week can a person work?

맀ᐙ ���� �ሀcሀ藀�� ࠀ� �藀����, �� ���� ���藀ࠀ �耀ࠀ�
��ሀc���� �ⴖ�� ��� �� ���� �ᐙ?

A. 42 42
B. 44 44
C. 46 46
D. 48 48

77)

The operation of cutting a sheet of metal in a
straight line along the length, is known as

c��� �� �� ̀�� � �耀��㔰 ࠀ� ��耀 �� ��c� �Ǔࠀ� �r
���藀ࠀ ࠀ� �耀���藀 � ��� ���� �ᐙ

A. Plunging ��耀ሀ耀
B. Notching 藀ሀ�耀
C. Slitting �����耀
D. Forming 맀」ሀ�i

78)

The blank diameter used in thread rolling will
be

�ࠀ� �ሀ�耀 �r ���� Ǔ��� ����
�����������������

A. Equal to minor diameter of the thread �ࠀ� ࠀ� ������ ���� ࠀ� �����
B. Equal to pitch diameter of the thread �ࠀ� ࠀ� ��� ���� ࠀ� �����
C. A little larger than the minor diameter of the

thread
�ࠀ� ࠀ� ������ ���� ࠀ� 耀�� ���

D. A little larger than the pitch diameter of the
thread

�ࠀ� ࠀ� ��� ���� ࠀ� 耀�� ���

79)
The instrument which has all the features of
try-square, bevel protractor, rule and scriber,
is

�� ����൮ ����r ��㔰�������, ��ࠀ� ��ᐙ���, ��
�� ������ �� ��� �� ����耀ࠀ̀ ��� ��
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A. Outside micrometer ����� ��������
B. Inside micrometer �耀���� ��������
C. Depth gauge micrometer �耀ࠀ� ࠀ� ��������
D. Combination set �」���藀̀ࠀ藀 �ࠀ�

80)

A progressive limit gauge has �� �ሀ�̀�� ሀ�ሀ�� ࠀ� ࠀ� ��� �ᐙ

A. 'Go' and 'Not go' member on the same side of
the gauge

ࠀ� ࠀ� �� �� ��맀 ''�� '藀」� ' �r��

B. Separate 'Go' and 'Not go' members ''�� '藀」� ' ࠀ� �r��� � �� ��r
C. 'Go' member at one end and 'Not go'

member at the other end
�� �� �� '' �r��� �� ࠀ���� �� �� '藀」� '
�r���

D. None of the above �藀ࠀ� ࠀ� �㔰 �� 藀��耀

81)

In order to check the clearance between two
mating surfaces, a ________ gauge should be
used.

� ��耀ࠀ� ��맀ࠀ � ࠀ� ��� ���㔰 �� ��耀� ��藀ࠀ ࠀ�
ሀ��, ________ ࠀ� �� ��� ���� ��藀� ������

A. Ring ��耀
B. Plug ��
C. Feeler
D. None of these �藀ࠀ� ࠀ� �㔰 藀��耀

82)

The instrument used to measure external and
internal diameter of shafts, thickness of parts
and depth of holes, is

̀�l� ࠀ� ����� �� �耀���� ����� ��‰ �� ���㔰
�� ሀ�䙁‰ �� ���㔰 � ���藀ࠀ ࠀ� ሀ�� ���ࠀ��� ����
��藀ࠀ ���� ����൮

A. Outside micrometer ����� ��������
B. Inside micrometer �耀���� ��������
C. Depth gauge micrometer �耀ࠀ� ࠀ� ��������
D. Vernier caliper �ሀ藀��� �ᐙ �����

83)

A basic shaft is one whose �� ��� ̀�l� �� �ᐙ �����
A. Lower deviation is zero ሀ藀��� ����藀 �̀x� �ᐙ
B. Upper deviation is zero ���� ����藀 �̀x� �ᐙ
C. Lower and upper deviations are zero ሀ藀ࠀ�� �� ���� ����藀 �̀x� ��
D. None of these �藀ࠀ� ࠀ� �㔰 藀��耀

84)

The algebraic difference between the
minimum limit and the basic size is called

x��藀�� ���� �� ��� ���� ࠀ� ��� ����൮���
�耀�� � ��� ���� �ᐙ

A. Actual deviation ������� ����藀
B. Upper deviation ���� ����藀
C. Lower deviation �� ����藀
D. Fundamental deviation ��ሀ�� ����藀

85)

When the file is moved to and fro over the
work, it is known as

�� ���� � ��� ��藀ࠀ ࠀ� ሀ�� �c� � �c� ࠀ�
���� ���� �ᐙ � �� �ࠀ�� � ��� ���� �ᐙ

A. Cross filing �」� 맀��ሀ�耀
B. Draw filing �� 맀��ሀ�耀
C. Pull and push filing ���� �耀� ��̀ 맀��ሀ�耀
D. None of these �藀ࠀ� ࠀ� �㔰 藀��耀

86) In current year, DMW is making which Loco. �����藀 ��� �r, DMW ��藀 ࠀ� �� �藀� ��� �ᐙ�



A. WAG9 ���� � �� �
B. WAG10 ���� � �� ��
C. WAP7 ���� � �� �
D. WAG7 ���� � �� �

87)

Convert 254 mm into thou 254 ሀ�.��. � 耀�� ����ሀ��� ��r
A. 0.01 0.01
B. 10 10
C. 1000 1000
D. 10000 10000

88)

Which Shop of DMW is calibrating Pressure
gauges

DMW �� ��藀 �� ̀」� �̀ࠀ� ࠀ� � �ᐙ ሀ�aࠀ� �� ���
�ᐙ

A. Tool Room ��� ��
B. PMS ������
C. ELS 㔰����
D. ABS �����

89)

What is the colour code for Non-Conforming
items

ᐙ���藀����� ( Non-Conforming ) ��‰ ࠀ� ሀ�� �耀
�� ��� �ᐙ

A. Green ���
B. Red ���
C. Yellow ����
D. Blue 藀���

90)

Between which of the destinations the first
Indian train was started?

���� ������ 藀ࠀ� ��藀 耀���‰ ࠀ� ��� �̀� �� 㔰
耀�?

A. From Calcutta to Delhi ���ƣ� ࠀ� ����� ��
B. From Mumbai to Thane ��耀�㔰 ࠀ� ��൮ࠀ ��
C. From Mumbai to Surat ��耀�㔰 ࠀ� ���� ��
D. From Mumbai to Madras ��耀�㔰 ࠀ� �䙁�� ��

91)

How many days of LHAP can be accumulated
to employees in his service life?

��藀ࠀ ��ࠀ� ���藀 �r ��������‰ � ���藀ࠀ ��藀‰ ��
LHAP ��� ���� �� ���� �ᐙ?

A. 300 days 300 ��藀
B. 450 days 450 ��藀
C. 600 days 600 ��藀
D. Un-limited �耀��� ��� ࠀ� ��ሀ��

92)

When no leave is admissible under any other
rule, the leave granted is known as

�� �㔰 �� ઍ�� ���� �x� ሀ藀�� ࠀ� ��� �������
藀��耀 ��� �ᐙ, � �� 㔰 �� ઍ�� � �� �r ��藀� ���� �ᐙ

A. LAP �� � ��
B. SPL Leave �̀ࠀ�� ���
C. Extra ordinary leave. �ሀ���� ��c��൮ �� ઍ��
D. LHAP �� �� � ��

93) The distance between the inner face of rails
for broad gauge is

a」� ࠀ� ࠀ� ሀ�� �ࠀ� ࠀ� �藀� 맀ࠀ � ࠀ� ��� �� ����
�ᐙ



A. 1.500 m 1.500 ����
B. 1.200 m 1.200 ����
C. 1.675 m 1.675 ����
D. 1.000 m 1.000 ����

94)

Name the current Ministers of State For
Railways of India

���� ࠀ� �����藀 �ࠀ� ��㠮� �耀�� �� 藀�� �����

A. Shri Kiren Rijiju 〳� ���藀 ������
B. Shri Piyush Goyal 〳� ����� ��
C. Shri Angadi Suresh Channabasappa 〳� �耀�� ̀ࠀ��� �x藀�����
D. Shri Giriraj Singh 〳� ሀ����� ሀ�耀�

95)

Yellow light-hand signal indicates ���� ���̀���� �耀ࠀ� � �耀ሀ� ���� �ᐙ
A. Stop ��r
B. Proceed �ࠀ �ᐡ藀�
C. Proceed cautiously ���c�藀� ࠀ� �ࠀ �ᐡr
D. None of the above �藀ࠀ� ࠀ� �㔰 �� 藀��耀

96)
His powerful desire brought about his downfall.

A. His intense desire B. His desire for power C. His fatal desire D. No improvement

97)
He has _______ people visiting him at his house because he fears it will cause discomfort to
neighbors.
A. curtailed B. requested C. stopped D. warned

98) Man who has committed such an _______ crime must get the most severe punishment.
A. injurious B. uncharitable C. unworthy D. abominable

99)
There are _______ views on the issue of giving bonus to the employees.
A. independent B. divergent C. modest D. adverse

100)
Rajeev failed in the examination because none of his answers were _______ to the questions
asked.
A. allusive B. revealing C. pertinent D. referential

101) jktHkk"kk fu;e ds vuqlkj �d� {ks= ds ljdkjh dk;kZy;ksa esa fdruk izfr'kr dk;Z fgUnh esa gksuk pkfg,
(,) 50 izfr'kr (ch) 80 izfr'kr (lh) 90 izfr'kr (Mh) 100 izfr'kr

102) jktHkk"kk fu;e ds vuqlkj fgUnh iz;ksx dh n`f"V ls jkT; ,oa la?k jkT;ks dks fdrus {ks=ksa esas ckaVk x;k gSA
(,) ,d (ch) nks (lh) rhu (Mh) pkj

103) fuEu esa ls dkSu lk jkT;@la?k �d� {ks= esa ugh vkrk gSA
(,) mRrjk[ka< (ch) NRrhlx<+ (lh) gfj;k.kk (Mh) paMhx<+

104) jktHkk"kk foHkkx fdl ea=ky; ds vanj vkrk gS
(,) x`g (ch) fons'k (lh) foKku ,oa izks|ksfxdh (Mh) lwpuk ,oa izlkj.k

105) lafo/kku ds fdl vuqPNsn ds vuqlkj fgUnh la?k dh jktHkk"kk gS A
(,) 343 (1) (ch) 343 (2) (lh) 343 (3) (Mh) 344 (1)

106) lalnh; jktHkk"kk lfefr esa yksdlHkk ds fdrus lnL; gksrs gSaA
(,) 10 (ch) 30 (lh) 20 (Mh) 15

107) dsanzh; fgUnh dh lfefr dk v/;{k dkSu gksrk gSA
(,) iz/kkuea=h (ch) jk"Vªifr (lh) dsanzh; xzg ea=h (Mh) mi jk"Vªifr

108) jktHkk"kk vk;ksx dk xBu dc gqvkA
(,) 1963 (ch) 1955 (lh) 1950 (Mh)1976

109) ������ �耀��c�藀 �r �����耀 ��� �藀����� �r ��൮�� �ᐙ?

https://en.wikipedia.org/wiki/Piyush_Goyal


(,) �藀����� 5 (ch) �藀����� 6 (lh) �藀����� 7 (Mh) �藀�����8
110) ��൮��� ̀ࠀ�� �r ��藀 �� ���� ȣࠀ��� ���� �ᐙ?

(,) ��ሀ��� (ch) �� (lh) �耀ࠀ��� (Mh) ���
111) fo'o fgUnh fnol dc euk;k tkrk gSA

(,)14 flrEcj (ch) 10 tuojh (lh) 28 flrEcj (Mh) 26 tuojh

112) fgUnh lykgdkj lfefr dk dk;Zdky fdrus o"kZ dk gksrk gSA
(,)3 (ch) 2 (lh) 1 (Mh) 5
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